Partial versus total disintegration of exporting firms

Which internal organization of the firm / market structure is chosen in an international oligopoly in which there is:

· Home bias (differentiation parameter)

· Possible vertical restraints on the production of inputs

· Demand uncertainty (symmetric or asymmetric)

- 
Iceberg transport costs

Three stage game

First stage: decision to produce the input or not (full vertical integration, partial vertical integration or vertical disintegration)

Second stage: price to charge for the input 

Third stage: quantity decision in the downstream market (Cournot duopoly) 

Six possible market structures: 

The three symmetric ones (on the diagonal) are:

VERTICAL INTEGRATION (VI-VI)
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VERTICAL INTEGRATION-VERTICAL DISINTEGRATION (VI-VD)
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Alternatively JOINT INPUT PRODUCTION (JIP)

VERTICAL DISINTEGRATION-VERTICAL DISINT. (VD-VD)
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Why the input must be bought from the (independent) foreign producer?

Results

· In most cases VI-VI is the preferred strategy

· If vertical restraints are imposed, or in the case of JIP, VI-VD is a second best result

· In some cases asymmetric strategies (i.e. VI-VD for a firm and VD for the rival is the outcome).

Comments:

Which market you have in mind?

Car industry, i.e. FIAT-GM, FIAT-SEVEL? 

This is important to discuss the validity of some assumptions:

· no transport costs for the inputs in the VI-VD case

· feasibility of vertical restraints

Some further issues linked to the market:

· price competition instead of Cournot

· constrained capacity

· asset specificity in the vertical arrangement (Coase-Williamson)

Asymmetries

So far in uncertainty, size of the market, differentiation parameter (home bias). What about the presence of cost advantages of vertical integration?

Collusion angle
Which is the best market structure if the firms aim to collude instead of competing in a Cournot fashion in the third stage?

Robustness

Some results seem to depend on the initial choice of parameters (i.e. compare profits of 189 in VI-VD with 185 with VI-VI in table 5)







